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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer
type questions of nineteen (19) marks each.
Learners are required to answer two (02) questions
only.
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1. Make distinction between the macro static and macro

dynamic techniques of investigation.
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2. What do you mean by National Income ? What are the
various conceptual and statistical problems faced
while estimating national income ?
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3. Keynes’ investment multiplier is not relevant to the
conditions existing in poor countries. Elucidate.
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4. Explain clearly the concept of interaction between
multiplier and accelerator.
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Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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1. What is the role of social accounting in economic

policy ?
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2. State and explain Keynes’ psychological law of

consumption.
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3. Define Money. Describe its functions in a modern
economy.
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4. Discuss the lags in investment function.
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5. Write a note on money as an instrument of change.

5T U UREH BT IUHRY W T fewoll forRay |

6. Point out the weaknesses of IS-LM general equilibrium
model.
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7. Can inflation induce growth is a developing economy ?
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Explain the different phases of business cycle.
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Note : Section ‘C’ contains ten (10) objective type

1.

questions of one (01) mark each. All the questions
of this Section are compulsory.
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The difference between Net National Product and Net
Domestic Product is :

(@) Net exports

(b) Net income from abroad
(c) Net foreign aid

(d) Net borrowing from abroad
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Stagflation denotes a situation in which there is both ?
(@ Unemployment and deflation

(b) Unemployment and reflation

() Unemployment and inflation

(d) Employment and inflation
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The relationship between saving and income is called :
(@ Income function

(b) Consumption function

(c) Multiplier

(d) Saving function
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The Keynes was most concerned with :

(@ Demand pull inflation

(b) Cost push inflation

(c) Structural inflation
(d) Stagflation
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The value of foreign trade multiplier is :
1
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What increase in government expenditure is needed to
raise the GDP by ¥ 10,000 crore, if consumption
functionisC=50+0.75Y ?

(@ 5,000 crore
(b) 10,000 crore
(c) % 7,500 crore
(d) 2,500 crore
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(@ 10,000 IS

(@) 7,500 BRIS

(8) 2,500 BRIS

Which of the following prevents national income from
falling to zero when gross investment fall to zero ?

(@ Consumption

(b) Multiplier

(c) Accelerator

(d) Production
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Which of the following is not an instrument of
monetary policy ?

(@) Open Market Operations

(b) Bank Rate

(c) Selective Credit Control

(d) Government Spending
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Which one of the following is not correctly matched ?
(@) Equation of Exchange — J. S. Mill

(b) Cash Balance Approach — Friedman

(c) Accelerator-Multiplier — Hicks Analysis
(d) Inflationary gap J. M. Keynes
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A central question in monetary theory is whether or to

what extent the quantity of money demanded is
affected by changes in :

(@ The price level
(b) Inflation

(c) Interest rates
(d) Income
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